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6x fables

Question]

There are 6 eqgs in each carton.
Hailey bought 5 cartons of eggs.
How many eqgs did Hailey buy?

Question2
3 children each have 6 packets of sweets.
How many packets of sweefs do they have altogether?

Question 3
Each carfon of milk fills 6 glasses.
How many glasses can be filled with 3 carfons?

Question 4
Each box contains 6 cartons of milk.

The local store received 8 boxes of milk.
How many cartons of milk did they get alfogether?

Question5
Each box contains 6 packets of rice.
How many packets of rice are there in 9 boxes?

Question 6

There are 6 paint brushes in each packet.
Pepe bought 10 packets.

How many paint brushes did he buy?

Question7
Each crate weighs 6 kg.
What is the combined weight of 4 crafes?

Question 8
Freda worked for 6 hours each day from Monday to Friday. How many hours did she work

altogether?

Question 9
Angela placed 6 sticks end fo end. Each stick is 10 cm long.
How long is the line of sticks?

Question 0
There are 6 tomatoes in each basket.

How many tomatoes in 9 baskets?
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6x tables solutions

Question]

There are 6 eggs in each carfon.
Hailey bought 5 carfons of eggs.
How many eggs did Hailey buy?

Solution

To calculate the total number of eggs Hailey bought, multiply the number of eggs in
each carfon by the number of carfons she bought.

5x6=30

Question2

3 children each have 6 packets of sweefs.
How many packets of sweets do they have alfogether?

Solution

To calculate the total number of packets of sweets, multiply the number of packets each
child has by the number of children.

3x6=18

Question 3

Each carton of milk fills 6 glasses.
How many glasses can befilled with 3 cartons?

Solution

To calculate the number of glasses that can befilled by 3 cartons, multiply the number of
glassesfilled by a carton by the number of cartons.

6x3-=18

Question 4

Each box contains 6 cartons of milk.

The local store received 8 boxes of milk.

How many cartons of milk did they get altogether?

Solution

To calculate the total number of carfons of milk a store received, multiply the number of
boxes by the number of cartons in each box.

8x6=48

Question5

Each box contains 6 packets of rice.
How many packets of rice are there in 9 boxes?

Solution

To calculate the number of packets of rice in 9 boxes, mulfiply the number of packets of
rice in each box by the number of boxes.

9x6-=54

Question 6

There are 6 paint brushes in each packet.
Pepe bought 10 packets.

How many paint brushes did he buy?

Solution

To calculate the total number of paint brushes Pepe bought, multiply the number of
paint brushes in each packet by the number of packets he bought.

10x6=60

Question7

Each crate weighs 6 kg.
What is the combined weight of 4 crafes?

Solution

To calculate the combined weight of the crates, multiply the weight of each crafe by the
number of crates.

4x6=24

Question 8

Freda worked for 6 hours each day from Monday fo Friday. How many hours did she
work alfogether?

Solution

To calculate the total number of hours Freda worked, multiply the number of hours she
worked each day by the number of days she worked.

5x6=30

Question 9

Angela placed 6 sticks end fo end. Each stick is 10 cm long.
How long is the line of sticks?

Solution

To calculate the fotal length of Angela’s line of sticks, multiply the number of sticks she
placed by the length of each stick.

6x10=60

Question 10
There are 6 fomatoes in each basket.
How many fomatoes in 9 baskets?

Solution

To calculate the total number of fomatoes in 9 baskets, multiply the number of fomatoes
ineach basket by the number of baskets.

6x9-=54
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